4 3 < 2z
CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717/ C7X17 v --  / 27GA 1.75° THICK MINOR RIB 1 OF 4 [Rev. NO.[ ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3718 S CIx18 » -—- S e76A 1. 75" THICK FLUSH
i = P TA <
3720 / C7X20 / 240U 7 27GA 2° THICK MINDR RIB o5 B of | NI D S
37ee /s COxee /» -- /S 20GA 2 THICK FLUSH
3724 7 C7%24 7/ 244U /7 24GA 2° THICK MINOR RIB
A
T W, ¥
|_— view "C
A ) _— - — - eia || 1
] /l//— VIEW "B
= il
B : - E
| OPTIONAL GLAZING MAY BE
‘1 Vi v I s s 4 AT | STANDARD (DSB OR BETTER) OR
: IMPACT RESISTANT GLAZING.
A MAXIMUM GLAZING SIZE (DLO) IS
| 22"x9-7/8". SEE SECTION B-8B
: ON SHEET 2 FOR DETAILS.
- GLAZING MAY BE INSTALLED IN
% 1 TOP SECTION (NOT SHOWN) OR
INTERMEDIATE SECTION (SHOWN).
S~ TWO POINT
| ‘\ LOCKING.
\— U—BAR.
I
A
Max., DOOR WIDTH: 10'-2*
ar |MUMBER OF #14x5/8" SHEET
DOOR HEIGHT *a' (2= 2 METAL SCREWS.
UP TO 8-0° 4
t%':g' m':ﬂ li??,__%. 2 1/4"x3/4" SELF
e TR LT : TAPPING SCREWS.
14'-3* THRU 16'-0° 8
16°-3* THRU 18°-0* 9
14 GA. END HINGES 14 GA. (MIN.} INTERMEDIATE HINGE
AW ot TR
SNAP LATCH ENGAGES i
ONTO VERTICAL TRACK. S
EGANCEH S;?:EE EJGI:_TCS-IU{JCQ' MANUFACTURING PRODUCT CODE
SLIDE BOLT LOCK ' C=DSIU=1D47%7
END EHOhGES DESIGN LOADS: +37.0 P.S.F, & —44.0 PSJF. .
STILE NEBTICAL THACK, OUTSIDE TEST LOADS: +55.5 P.S.F. & -66.0 P.S.F. PART NO.: N/A
ONE LOCK OM HANDLE. LOCK BAR Unless Stotes Otherwise | (D 8585 Duke Boulevord WINDLDAD RATING
Eg%g SIDE OF  ouTsIDE END ENGAGES IN | TOLERANCES ore -ﬂlnpay Mason, OH 45040 U \/ 6 D P 3 7
: HfNEJLEED STILE. EESEKSE}TZ 0 = +.031 |Buiding Producls Company  Fax Mo. 513-770-4853
ot L w0 ' OF DOOR 00 = +£.015 DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 10'Z"w (SEE TABLE)
e INSIDE_SLIDE BOLT INSIDE HANDLE ' 000 = £.005  TORAWN BY: SH DATE: 2/10/14 | SCALE: NTS OWG
il e - Ty T T OUTSIDE_KEYED LOCK WITH HIOE el - ' : j
DESIGN ENGINEER: RS W% LOCK BAR LOCKING. Degrees = 1/2° [cHECKED BY: SH DATE: 2/10/14 |SHEET 1 OF 4 [SIZE
MARK WESTERFIELD, £~ » ! 7 : Unless Stoted (therwise DWG. NO.. 104039 — A,.-"B VER: TDI
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513 CRMENSIONS ARE I INCHES. | i .

4 3

. 2



4 3 - y 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
ggi; i E;KI; P e / 27GA 1.75" THICK MINOR RIB 2 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.[ APPVD: DESCRIPTION
X18 / -- 7 27GA 1.75° THICK FLUSH
3720 / C7X20 / 240U / 27GA 2 THICK MINOR RIB L ‘ - - = R e
3722 / COX22 + ~-- / 20GA 2° THICK FLUSH
3724  / C7X24 / 244U / 24GA 2° THICK MINDR RIB
IMPACT-SRESISTANT CONSTRUCTION: STANDARD ASSEMBLY CONSTRUCTION:
SOLID DOORNENO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZNG ARE OPTIONAL LITES WITH DSB OR TEMPERED INSULATED GLAZING AVAILABLE.
| IMPACT-RESIS . OPTIOMAL IMPACT RESISTAMT ASSEMBLY COMSISTS OF ALULTUM

FRONT FRAME AFNE SABIC IP LEXAN 9034 (VERSIONS ALSO APPROVED: MR 1@ 9030, THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
90318, 90316, 90 , 90311, 90314, 90355) OR BAYER MAKROLON GRFVERSIONS OR INTERMATIONAL BUILDING CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS REGIONS (REF. CHAPTER 16

ALSO APPROVED: SLN@R, 15), APPROVED CC1 PLASTICS IN ACCORDANGEFWITH IBC/FBC FBC,/1BC).
2606 AND APPROVED PLASTICS IN ACCORDANCE WITH FBC 2612,

THE ENTIRE DOOR ASSEWEELY INSTALLED IN COMPLIANCE WITH THIS 4 CTION MEETS THE
WIND LOAD REQUIREMENTSMQF THE FLORIDA BUILDING CODE AMD WTERNATIONAL BUILDING
CODE AND 1S LARGE— AND WALL—MISSILE IMPACT RESISTANT,

SECTION B-—B
SECTICN B—B LPACT—RESISTANG GLAZING OPTION) (NON—IMPACT —RESISTANT

GLAZING OPTION)

PANEL ——1 I‘-—
/ THICKNESS PAN HEAD
E SCREW

—N (10) #8-18 x 1/2"
EXTERIOR OF DOOR. / SELF—TAPPING SCREWS.

INSULATED DOOR SECTION.

DECORATIVE FACADE.

f&, d'
_l - INSULATED GLASS
|'~" V"‘“’* INTERIOR OF DOOR. THICKNESS
;.-:* il
E RETA R. DUTSIDE
i 8 INSIDE
(12) P18 x 1/2 8 ALUMI FRAME, FRAME
SELF—@PPING SCREWS. FRAME
/47 1 POLYCARBONATE
GLAZING,
r
MPACT—RESISTANT ASSEMBLY DETAIL STANDARD ASSEMBLY DETAILS
DRAWING 104039-A - DRAWING 104039-B
MANUFACTURING PRODUCT CODE|
: C-DSIU-1D477
" DESIGN LOADS: +37.0 PSF. & —44.0 PSF. "
TEST LOADS: +55.5 P.S.F. & -66.0 P.S.F. PART NO.: N/A
% Unless Stated Otherwise -l:l 8585 D5§E¢?§:BEH‘?£E WINDLOAD RATING
z TOLERANCES o | umm WIOPAY 1555 0155550 4800 \Wf‘ 6 D P 3 7
- 0= +.031 Buikding Producls Compory Fox No. 513-770-4853
T 00 = i-gég DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 10'2"W (SEE TABLE)
. =i . =%
i B ,0333 = +.001 DRAWN BY: SH DATE: 2/10/14 | SCALE: NTS DWG.
DESIGN ENGINEER: w, e Degrees = £1/2° |CHECKED BY: SH DATE: 2/10/14 [SHEET 2 OF 4 [SIZE
MARK WESTERFIELD, P.E. ‘ L Unless Staled Otherwise .
FLORIDA P.E. #48495, NC P.E. #23832 TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104039 - A/B VER: TDI

4 3 @~ 2 1



CLOPAY ~ IDEAL » HOLMES SHEET: REVISIONS
3717 / C7X17 +  —-- / 276A 1. 75" THICK MINOR RIB 3 0OF 4
5 : B ME: TE: LA :
T i e e 1 oms THiCR FLISH REV. NO.| ZONE: | DATE: | ECN NO.| APPVD DESCRIPTION
3720 / C7X20 / 240U / 27GA 2 THICK MINDOR RIB s | - - - = SEE BEVISION ST O B HEET (ONE
3722 ! COXeg » -- A/ 20C0A 2* THICK FLUSH
3724 S C7Xed4 7 244U /S 2404 2° THICK MINOR RIEB — 1-3/4" THICK MIN
r 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
/ BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
SCREWS., ADJUSTABLE SLIDE ATTACHED TO TOP
HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT <7\, BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
M /_ (NO LOAD FROM DOOR) 3 NOTES: '/ BRACKET.
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
: . THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. MO LOAD FROM THE DOOR IS
'\'k TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAME SEES A MAXIMUM DESIGN LOAD OF +185 LB & -220 LB. PER LINEAR 27 GA. (016" MIN.}) EXTERIOR STEEL
FOOT OF JAMS. SKIN WITH G-40 MIN. GALV., BAKED-ON
3. ALL JAMB FASTENERS MAY BE {BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROMIDE A - POLYESTER PAINTED TOP COAT APPLIED
FASTENER FLUSH MOUNTING SURFACE. TO BOTH SIDES OF STEEL SKIN
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS MOT USED IN THE CALCULATION OF ALLOWABLE '
Y LOADS FOR AMCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY. J
e
MAX. 0.C. MNOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUDUS ANGLE MOUNT TRACK. HOWEVER, e "
IF DESIRED OM STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS SECTIONS ARE 1-3/4" THICK (MIN.) PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1—1,/2" AMD INSTALLED DIRECTLY EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
. THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUQUS AMGLE TRACK CAM BE ANCHORED DIRECTLY TO GROUT PAINT, MINOR RIBS ARE PLACED EVERY 4 INCHES
/— 2x6 VERTICAL JAMB —\ REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS. ALONG THE WIDTH OF THE EXTERIOR PAMELS.
r . TOMGUE AND GROOVE JOINTS.
kg VIEW "E”
] 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENMED

FASTEMER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES

17 /8
—I_:=

3" TALL 50 KSI
20 GA. GALV. STEEL.

U-BAR

— EVERY SECTION WITH (1) ON THE TOP OF THE

1 TO END STILES W/{4) #14x5/8" SHEET METAL AND
= (4) 1/4"x3/4" SELF TAPPING SCREWS. (SEE VIEW "B")

TT——— (1) 3" x 20GA. STEEL U—-BARS AT THE BOTTOM OF

BOTTOM SECTION. ATTACHED WITH (2) 1/4"x3/4"
SELF-TAPPING SCREWS PER HINGE LOCATION. (SEE
VIEW "E™)

27 GA. (.016" MIN.) EXTERIOR STEEL

SKIN WITH G—40 MIN. GALV., BAKED—OMN

POLYESTER PAINTED TOP COAT APPLIED
‘ TO BOTH SIDES OF STEEL SKIM.

12 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.

ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

4

3

MAXIMUM
ON—CENTER
BETWEEM _[WASHERS
BUILDING TYPE FASTEMER TYPE FASTEMERS ' |REQUIRED?
E%ll_]f_:er ELEE:K WALL 1 ﬁ"'" X 1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHCR 9" 1" OD.
ILLED _BLOCK WALL |1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 14—374"_ 1" 0.0,
2000 PSI_MIN. CONCRETE | 1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 12-3/4"  [1" OD. HEBUTARIVEIN S FRADMET. CO0E
;.. [2000 PSI MIN. CONCRETE |1/4" » 1" WIN. EMBED TAPCON CONCRETE ANCHOR i 1~ 0.0. C-DSIU-1D477
A 2000 PSI MIN, COMCRETE 3787 x 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE AMCHOR 24" INCLUDED DESIGMN LOADS: +37.0 PS.F. & —44.0 PS.F.
% [4000 PSI MIN. CONCRFTE |3/8" « 1-3/4" MIN. EMBED WEJ-IT ANKR TITE_SLEEVE ANCHOR 24" INCLUDED TEST LOADS: +55.5 P.S.F, & —66.0 P.S.F. PART NO.: N/A
o IWOOD FRAM P 1 x 3 REW [ASTM 7, GRA 1- MBED INTO STRUCTURE 24" 1" 0.0, Unl Stoted Otherwi ki I d
> [14GA STEFL (0.060" MIN) [1/4"—14 x 1" ITW BUILDEX TEKS SELF-—DRILL!NG FASTENER 12-1/4" [T 0.0 TEEEREFQCEETN,SE £ l}lnpay qufsn.nﬁhea;gg:nwﬁn WHIOCAD REFLD
- [12GA STEEL (0.105" MIN) [1/4"— 14 x 1" TW BUILDEX TEKS SELF—DRILLING FASTENER 21-1/2" |17 0D. e | . 0. Sl i W6 DP3/
- [1/8" sTERL 1/4"=14 x 1" [TW BUILDEX TEKS SELF—DRILLING FASTENER 74" i 0.0, 0 = 031  [Buldng Froducls Comgany Fox No. 513-770-4853
Z * FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 00 = £.015 | DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 10°2"W (SEE TABLE)
= AT LEAST AS HIGH AS THE DOOR QPEMING, 000 = +.005 DRAWM BY: SH DATE: 2/10/14 | SCALE: NTS
BESIGN ENGINEEE CLOPAY DDES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = +.001 : £.2/10/ s DWG.
= MINIMUM DISTANCE BETWEEN CENTER OF AMCHOR AND EDGE OF CONCRETE BLOCK: 2-1/27, EXCLUDING STUCCO THICKMNESS. Degrees = +1/2 CHECKED BY: SH DATE: 2/10/14 |SHEET 3 OF 4 [SIZE
MARK WESTERFIELD 1P. F e Unless Stoted Otherwise
FLORIDA P.E. #48495 .NC P.E #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN iNCHES.|DWG. NO.: 104039 - A/B VER: TDI



CLOPAY / IDEAL / HOLMES SHEET: | REVISIONS

3717 S C?X17 / -- S 270A 1. 75" THICK MINOR RIEB 4 OF 4 : : : R
e (el e D SHIEE G REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3720 /7 C7X20 7 240U 7 27GA 2° THICK MINOR RIE 05 - - B - Bk REAON WSTORT ON SHEET ONE,
3722 7/ COXe2 7 -- / 20GA 2 THICK FLUSH

3724 7 C7X24 / 244U 7 24GA 2* THICK MINOR RIB

2" TRACK CONFIGURATION

NOTE DOUBLE TRACK
HEADROOM, HI-LIFT TRACK,
FOLLOW-THE- ROOF
TRACK, AMD VERTICAL LIFT
TRACK ARE AVAILABLE
OPTIONS.,

TRACK CONFIGURATION
ABOVE THE COOR OPENING
DOES MNOT AFFECT THE
WIND LOAD RATING.

DOORS UP TO 800 LBS.

OPENING HEIGHT = DOOR HEIGHT

HORIZONTAL TRACK
SUPPORT BY DOOR
INSTALLER (TQ Sunj\{

B2 t4"

4— 35"£2"

DOCR COUNTERBALAMCE SYSTEM

13 GA GALV. STEEL FLAG BRACKET ATTACHED TO
JAME WITH (3) 5/16" X 1-5/8" LAG SCREWS
AND TO TRACK WITH (2) 1/4" RIVETS.

AS RQD: SPACING NTE 30" O.C.

2" GALV. STEEL TRACK,
TRACK THICKNESS: 0.060".

VERTICAL TRACK TO BE BRACKET
MOUNT OR CONTINUQUS ANGLE
{1-3/8"x2-1,/4"12 GA MIN.)
MOUNT. ALL BRACKETS/TRACK
CLIPS ARE 12 GA. GALV. STEEL.
BRACKETS/CLIPS ARE ATTACHED

OPTIOMAL STOP MOULDING
BY INSTALLER (TO SUIT).
16 GA GALV. STEEL DOUBLE—END-STILE

FASTENED WITH (1) #8 X 1/2" WAFER SCREW. [.¢

ANGLE MOUNT JAMB CONFIGURATION

2x6 SYP JAMB (IF PRESENT;
SEE JAMB NOTES ONM SHEET 3).

OME 5/18" x 1-5/8" LAG
SCREW SPACED AT THE SAME
DISTANCES AS THE TRACK BOLTS
(LE. 3—1/2" 10", AND EVERY

3
!

TT7/16 1.D. ROUND
PUSH NUT FASTEMER.

1
18 GA. GALV.
FASTENED TO SECTION W/{4) EACH
#14x5,/8" SHEET METAL SCREWS.

14 GA, GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.

2" DIA. SHORT STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.

24"). ALSO TWO LAG SCREWS
LOCATED ABOVE VERTICAL —

HORIZONTAL TRACK JUNCTIOM.

L CENTER HINGE

ST

TO TRACK WITH EITHER TWO 1,/4"
RIVETS OR ONE 1/4" BOLT AND
WUT.

— 10"
3- 2T

SECTION C—-C

PREPARATION OF JAMBS BY OTHERS.

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING

DOOR | JAMB CONFIGURATION
HEEG’;T,, ;u" DOORS UP_TO 800 LBS.
=0 75" BRACKET MOUNT JAMB CONFIGURATION
7' -6"| §2" "
50" 88" 1" DOOR COVERLAP (EACH SIDE)
&'—-6"] 94" 2x6 SYP WOOD JAMB.
9'—0" 100" REQUIRED FOR BRACKET
9'—f" 106" MOUNT.
10'—0"j112"
10°-6"[118"
11°-0"]124" 2-1/2" X 12 GA GALV. STEEL
11°—8"]130" TRACK BRACKETS FASTEMED TO
12'-0"[136" WOOD JAMES WITH 5/6" X
12'—6"1142" 1-5/8" LAG SCREWS NOT TO
13'—0"[148" EXCEED 30" OM-CENTER.
13 —6"[154"
14'-0"160"
14'-6"|166"
15'-0" 172" 2" GALV. STEEL TRACK FASTEMED TOQ
15'-8" 178" 12 GA GALY STEEL TRACK BRACKETS
16'—0" 184" WITH EITHER (2) 1/4" DIA. RWETS OR
16'—6"[190" (1) 1/4" ¥ 5/8" BOLT & NUT PER
17°-0"[196" TRACK BRACKET.
17'—6"|202"
18'-0"[208"

SCREWS.

NOTE DOUBLE TRACK
HEADROOM, HI-LIFT TRACK,
FOLLOW-THE— ROOF
TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE
OPTIONS,

TRACK CONFIGURATION
ABOVE THE DOOR QPENING
DOES MNOT AFFECT THE

3" TRACK CONFIGURATION
ORS 800 LBS AND OVER.

CENTER HANG REQUIRED FOR

!

3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK
THICKNESS: 0.101". ANGLE THICKNESS: ©.080".
MIN, ANGLE DIMENSIONS 3—1/4" x 2-7/8".

| / DOORS CVER 8" HIGH.

HORIZONTAL TRACK
SUPPORT BY DOOR

JAMB COMFIGURATION
DOCRS 800 LBS ANMD OMER.

1" DOOR OVERLAP (EACH SIDE) —

2x6 SYP JAMB (IF PRESENT;
SEE JAMB MOTES ON SHEET 3). e

INSTALLER (TQ SUIT),

TRACK.

DOUEBLE HORIZONTAL

T K

DOUBLE TRACK
LOW HEADROOM OQPTION
(AVAIL. FOR BOTH 2" AND 37 TRACK)

16 GA GALV. STEEL DOUBLE—END-STILE
WITH (1} #8 X 1/2" WAFER SCREW.

E

OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).

FASTEMNED

WIND LOAD RATING.
\_j&ﬁé‘%{ H%TSEGI“E:!- BTSAICSK 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED
z & NS, Fot g TRAGK. ANGLE. SEE LAG BOLT MOUNTING AT TRACK ¢ 1 18 GA. GALV. STEEL CENTER HINGE
5 CEMAIBHRARLN: BEL: FASTENED TO SECTION W/(4) EACH
= AS RQD: SPACING NTE 30" 0.C. BETWEEN TOP VERTICAL \'\_ 7/16" 1.D. ROUND #14x5,/8" SHEET METAL SCREWS.
i A TRACK MOUNTING SLOT AND VERT./HORIZ. TRACK JUNCTION. PUSH NUT FASTENER.
2 _:} = 0.101" 'OI'H!CK 3" GALY. STEEL TRACK FASTENED ;IL{E;;- v??lf:) ETAEEHL ;;U:'-gﬁsf"gﬁgé F:E:E’:Egc;gwg“ﬂ
TO TAPERED ANGLE. TRACK ATTACHED TO X
: » ggfgé%”i‘i gfl-”géﬁ?ﬁ;ms TAPERED ANGLE WITH ONE 1/47x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
= : NUT AT EACH MOUNTING SLOT.
] 3" DIA. SHORT STEM BALL BEARING STEEL ROLLER.
T R |VERTICAL
o ﬂ?.?;m TRACKCT.ENGTH o SECTION C-C MANUFACTURING PRODUCT CODE
= 34" =], Wit PREPARATION OF JAMBS BY OTHERS. C-DSIU-1D477
L -
& i S T [ =] DESIGN LOADS: +37.0 P.S.F. & —44.0 PS.F. TN
R T TEST LOADS: +55.5 P.S.F. & —66.0 P.S.F. PART NO.: N/
OME. %" TRACK BOLT AND 12°-071 1327 Unless Stoted Otherwise | 8585 Duke Boulevord WINDLOAD RATING
NUT AT EACH MOUNTING 1401 156, TOLERANCES ore | uymm WIOPAY  oson 25,4300 00 \’n/ 6 D P 3 7
. SLOT LOCATION. :g.:g oo 0 = +.031 |Bulding Products Compony Fox No. 513-770-4853
e ' . = - ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +015 e ==
WY o eyl 10 18 -0l 228 DISTANEES 25 THE TRACK BOLTS. THO LaG SCREWS ALSD LOCATED 0o = 015 JDESCRIPTION: _1-3/4" INTELLICORE DOORS UP TO 10°2'W (SEE TABLE)
S e AR e _\;"‘f . ABOVE VERTICAL/HORIZONTAL TRACK JUMCTION, 0000 = +.001 DRAWN BY: SH DATE: 2/10/14 |SCALE: NTS oWG.
DESTENs ENGINEE R b Degrees = %1/2 . : SIZE
&N £ e i Dl CHECKED BY: SH DATE: 2/10/14 |SHEET 4 OF 4
MARK WESTERFFE—'ED1 'ﬁ.E. """""" Untess Stoled (Mherwise :
FLORIDA P.E. §#48495 NC P.E. #23832, TEXAS P.E. #091513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104039 - A/B VER: TDI



